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n x 5,
then + 3

gives you 28

1

n - 3,
then x 9

gives you 63

2

n + 5,
then ÷ 3

gives you 8

3

n ÷ 6,
then -

 

1
gives you 5

4

n x 9,
then -

 

3
gives you 69

5

n - 8,
then ÷ 4

gives you 8

6

n + 4,
then x 8

gives you 48

7

n ÷ 7,
then + 2

gives you 10

8

n - 2,
then ÷ 8

gives you 3

9

n x 5,
then -

 

6
gives you 9

10

Challenge 25

n + 4,
then x 7

gives you 56

1

n ÷ 5,
then -

 

2
gives you 3

2

n x 7,
then + 2

gives you 30

3

n ÷ 9,
then + 5

gives you 12

4

n - 3,
then x 6

gives you 54

5

n + 7,
then ÷ 6

gives you 10

6

n ÷ 10,
then -

 

2
gives you 8

7

n + 1,
then x 7

gives you 21

8

n x 9,
then -

 

2
gives you 79

9

n - 4,
then x 5

gives you 45

10

Challenge 26

Check your answers at the back of the book.
Record your time on the record sheet.


